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(1) T SEYREHE 100 sifrard v oRd. el Wyl gay fofvare geam seoangdl a1 gegRacsd
ﬁqaﬂmﬁammuﬁﬁ@ﬁww aﬁama@mmﬁtmﬂwmmﬁq

% TAE—HHID | |
(2) SIS TAH—FHAH & I 2 Ol
= e afeRa fom. Nard) wpaTEy qae o

(3) TSI WIYTH! e GHeaT SatuhaR fafire STRT SeRashe de ey  fEw FE F@.
@) (@) 7 ITTIRAHIIE T W 4 YT T GRS A @I 1, 2, 3 ST 4 T sheioh s omed. w1
wmﬂﬁwﬁﬁmmwmﬁwmwwﬁm HUAl. M
mmmwmﬂﬁﬁﬁmmmmﬁmwaﬁﬁmmw
HTE ATEN. SR Gl HIGAT TME U T, S 31 e 39 ae 4.
(@) sy v AT TR SR S A R e o, T SR WY A S S S e
BIYOAT SN 1%, TATTE SIS bt S ReTrel EEIaiges ST S e e o s
YR ST, SHEET Tt e T HISee He=e T g 9er.

(5) WE_ WK GHE U1 . AT e JIA Ie A, SIS G SO AR e SEl S 919
Rt AT W WreaArEd. HE W WIST Sawh ST IU TR 957 B4 e WA 3% 7 aeik 3
REAFE TBR.  H TB1 Sraean Weodd TEreamat do Riemn Teard HaiT B Faoedl IeiiHs
LAY WEEHT SO

(6) TUTATHHT THA TG B AL WISl JUIT Y. TG S AT WG TAT Sa feard of TS HOMT A8,
THTIET W S TG BT o TAL gHIY U ARS 9 1 JHroA1 IO T ST Bl S

(7) TR TS SRR raieh a1 FHEaHT Sdthaie ara st o1 f5 e, a8 ¢ Shean
gl SgTatd wEaem TeAi R 9 St FEiE A SavE ST TE FUEE. Syl i
TR AR T TE Sauarl 25% Rt 174 101 T/ Foamr 3.
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TIAGRAHAe FTE A FIOTAE |EIT TAH a1 AT FTATE i a1, 7849 wies
FO1 & TR A Al FR ST e aTEEE AT e Cqfeimed o= v
it FIoarETEE AfUfFEE—8 2" aie TgEgan T Tt HUal AgEaR FEET FAR
gawwﬁhwwaﬁmmwﬁvﬁmm@mwﬁwﬁmméﬂm
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A
1. o o
m .
@ afe R | 0
(b) . "
() oRA. weads (i)
kd) SifeT =0T AR (iv)
@ B @ @
m 6 @ (i) (@)
@ @ @ @ @)
@ @) @ @ O
@ @ @ @) ()
Match the following :
Author
(a) Anil Seel . )
() S. Gopal )
(©) RP.Patwardhan i)
'-(d) Ambika Charan Majuﬁlciar (iv)
Answer options : |
(A () () (9
M @ @ @ ()
(2) ) @ 6O @)
@) G @) @ @
@ @ O @

3 | Y15

.Book
Indian National Evolution
Dadabhai Naoroji Correspondence
British Policy in India

Emergence of Indian Nationalism'

FoAl FHMIA AR / SPACE FOR ROUGH WORK
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2. WISy g : _
() T T () RN feew BwR
(b) TR WYUAER () wH e
(© = warm (i) TERTE fred B
(d) <Tom 9ET . (iv) oTHNA wel §ER
T SR ' ' :
@@ () (9 (d
1) @) @ @dv) (i
@ @ @) O @)
@) @) @ ) 0
@ ™ @ @ o
‘Match the Pairs :
Founder _ Film Institute
(a) Baburao Painter (i)  Aryan Film Company
(b) Nanasaheb Sarpotdar (ii) Prabha Pictures -
(c) V. Shantaram (i) Maharashtra Film Company
(d) Raja Pandit (iv) Rajkamal Kala Mandir
Answer option : '
@ () (o (d)
(1) @) @ @) (i)
(2) @ (@) @ ()
(3) (i) @@ () @
(4 @) @) ) @
3. 1878 WAl ‘FAYAN U fqe’ BIUN X Herr?
(1) @€ faeq 2 € R
(3) “IF deH (@) e faegm §fe
~ Who repealed the Vernacular Press Act of 1878 ?
(1) Lord Lytton ' _ (2) Lord Ripon
(3) John Adam (4) Lord William Bentinck
4. 1973 Wl AR WS oM@ ﬁ%aﬂwmﬁﬁmmwﬁaww
(1) - B8 C(2) ST (3) e (4) ST
In 1973 Anandpur Sahib Resolution there was a demarid of seperate State Khalistan dominated
by _ sect. , ‘
(1) Fateh (2) Akali (3) Khalsa (4) Udasi

T FTATS JRT / SPACE FOR ROUGH WORK
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5. @4 A I TR See TR Bevied e Eiate] St ghd & gdr?
(a) WS AT
(b) wRFEE glafd JEe, TC
() T wfafad gecafiT
(d) &1 A A9 e el

A 4

ggff T :
(1) (a) 3T () Ba (2) (a) o1 (d) B
(3} (a), (b) 3P (d) T (4) 0T | WK

V.P. Menon's Plan for Partition of India was approved by whom of the following ?
(a) Lord Mountbatten

(b) Congress representative Nehru, Patel

(c) Sikh representative Baldev Singh

(d) League leader’s Jinnah and Liyakat Ali

Answer options :

(1) (@) and (¢) only () (@) and (d) only

(3) (a), (b) and (d) only (4) All the above are correct

6. 'Tied feA WA’ IYE Welleld! B B ?

(1) 7@ F7 TEe (2) TETWE ARTON

(3) g HiEd 9 (4) g A

Who among the following was the President of the ‘London India Society’?
(1) GXK. Gokhale (2) Dadabhai Naoroji

(3) Anand Mohan Bose (4) Surendra Nath Banerjee

7. DI TEEIAN IHTRA T WP 1983 ALY RGN HOA UAGHEY TEAN THAIE ARY B
SARTAT 7
(1) TEERoTRT desn (2) weEIRT I|A
(3) wET R 4) IR T

The Akali Dal Government under whose leadership was dismissed in 1983 and Presidential rule
was imposed in Punjab ?

(1) Gurucharansingh Tohra (2) Prakash Singh Badal
{3) Harchand Singh (4) Darbar Singh

FEA FTEIS AT / SPACE FOR ROUGH WORK PT.O.
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8. ISl GuWE= 9 M WRaen Wi et e aree R 99 e dA. @ER
21 FSER 1943 IS WGH IRATE S TRER TN el Horr el Bifda Her?

(a) RTIR
®) @
() e
(@) T
i e
(1) W& (a) 2 (a) 3T (b)
@) () (b) S () (4) a0 wd

Netaji Subhashchandra Bose founded Azad Hind Sena for freedom of India, where did he make
the declaration of Interim government of Independent India on 21 October 1943 ?

(a) Singapore

(b} Rangun

{(c) Kohima

(d) Imphal

Answer options :

(1) () only (2) (a)and (b)
(3) (a), (b) and (c) (4) Al of the above

9. 9 3ifee 1971 1 WRA-IRAT FNSHIRT BIRAT Homwrar GHAEY TET 7
(1) fasT9 T A9 &AT AESTATE HET WUDH DR,
() wTiE wiaaArsr onfor WS Wye IrCHuEhd IRees Wi 3o sreva .
(3) SUYER $% M.

(4) o3 gaiaR P RT $% .

Which article was not included in the friendship agreement between India and Russia of
9th August, 1971 ?

(1) To expand cooperation in the field of Science and Technology.

(2) Through the UNO curb the arms race and establish the global peace and stablhty
(3) Not to Spread disinformation.

(4) Not to attack on allies.

F1 FTETE AV / SPACE FOR ROUGH WORK
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10. RfvmEim dom 9 Omde TRga e S @@

(B)
() IRT AXEqE WNid WEHd e 3.
(M) < v I ERBR IO HRUGR I1.
(i) g TAIHOY W@ e .
(v) SHW TEGEHAY AR THE R e .

Match the following plans in the British period and its provisions.

(A)
(a) Tres Ao
(b) = Ao
(c) B g
(d) WSeded A
Qi S

@@ M) (© (@
1) @ O G) @)
@) (v) @) @) @
Gy (@ @) @O )
4y O @ @) )

(A)

(a) The Cripps Mission
(b) Wavell Plan
(c) Cabinet Mission
(d) Mountbatton Plan

Answer options :

1)
2)
©)
4

(a)
(iv)
(iv)
(i)
(i)

(b)

(<)

(d)
(i)
)

(iv)
(iv)

(B)
(i) A Referendum should be taken in the northwest territories.
(ii) An Interim government of the all parties should be formed.
(i) Freedom should be given after the war.

(iv) India would be given colonial independence after Second World
War.

F< FETAIE AW / SPACE FOR ROUGH WORK PT.0.



Y15

e e e I R e S T

Gee fAaroneed el e

11.
(a) I Torfhaed W TRE 9 e ™ wEne 2.
(b) A e AT SrRARTTEE FeraT P
() R I q¥= JfREEE ey BvaTE dNE W T S,
(d) = e W= wiftfe Aeauden SR W F@E e
TR S
(1) <= AR (2) IS IO APRFT
(3) dreE feww (4) oI e
Identify the person from the following description.
(a) He was the professor of Mathematics and Physics at Elphinstone Collage, Mumbai.
(b) He founded the East India Association.
(c) Received the honour of being the president of the Indian National Congress Assembly three
times.
(d} Hedrew the attention of the world to the British government’s policy of economic exploitation.
Answer options :
(1) Dadabhai Naoroji (2) Gopal Ganesh Agarkar
(3) Lokmanya Tilak (4) Justice Ranade
12. 1866 A% ‘YAfGAERIG® HShH U1 L) TAGAT BN Hol?
(1) TR W wSF (2) WA FAHDI
(3) Svavds REmErR - (@) feEmeh Oy
Who founded the ‘Punarvivahottejak Mandali’ in 1866 ?
(1) Gangadhar Shastri Phadke (2) Balshastri Jambhekar
(3) Ishwarchandra Vidyasagar (4) Vishnushastri Pandit
13. TelerIe! BT §o8 SATSARIS IMHId HereHl Sir?
(a) S SrRIfaTEH

(b) YU WEANF |H
(c) = A% srAfiEE
(d) s SRS FEReEE

iy S :
1) (a), (b) MM (c) Boa (2 (b), (c) 3nfeT (d) T
3) (@), () 3T (d) B 4) (a), (b) T (d) B

Which of the following Political Organizations were in the Mumbai Presidency ?
(a) Bombay Association

{(b) Pune Sarvajanik Sabha

(c) Bombay Native Association

(d) Bombay Presidency Association

Answer options :

(1) (), (b) and (c) only (2) (®), (c) and (d) only

(3) () (o) and (d) only (4)  (a). (b) and (d) only

T ST AT / SPACE FOR ROUGH WORK
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14. @Rl g fmr s
(a) ﬁﬂmﬁmmmﬂ)mﬁméﬁgﬁﬂmmwwm@
el
(b) ﬁmmmmﬁmmﬁawmmwmﬁwm
ffee TR s H’@Eﬁfﬂ gl SYoa 3.
Lo e
1) I Rge =R aﬁa*&gﬁﬁmu@w-ﬁmﬁu\m_m e,
(2) <re fAgm gIE mea.
(@) <r8 R ey Wy Y Rge st Rumr dre e .
(4) RS fRAyM RaR R’y gEY Fum g o,
Consider the following statements.
(a) = Pitts’ India Bill of 1784; strengthened political control over the British East India Company
(b) Pitts’ India Bill drew a sharp line of demarcation between commercial transactions and
political activities by providing a Board of control appointed by the crown.
" Answer options : '
(1) Both the statements are correct and second is the correct explanation of the first
(2) Both the statements are wrong
(3) Both the statements are correct but the second is not the correct explanation of the first
(4) The first statement is correct ‘but the second is incorrect
B aom 7 fifew dAdeaa SR {3 v da ?

15.

(a) oIS I

by wie IR AR

(c) I THS foed

(d) TR IeraEie

I SW

1) (a), (b) 3 () BT (2) (), (c) 3T (d) B
3) (@), (o) 3T (d) B @) (o) 3nfer (@) wa

Which of the following Ministers from British Cabinet were associated in the Cabinet Mission
Plan ?

(a) Lord Wavell

“(b) Lord Pathick Lawrence

{c)  Sir Strafford Cripps

{d}y A.V. Alexandar

Answer options : :

(1) (), (b) and (c) only (@ (b) () and (d) only
(3) (@), (c) and (d) only (4)  (¢) and (d) only

FoAT FMTS AR / SPACE FOR ROUGH WORK ' PT.O.
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@ﬁaﬁﬁaﬁmﬁﬁmgﬂ%ﬁaﬂm

(a) ﬁmmﬁmmmwaﬁ

(b) ml%arﬁmﬁ#mméuszzqaaaﬁmm

() 1815H3Wﬁaﬁﬁ#mmaﬁmﬁﬁ?ﬁmﬂe}wﬁﬁﬁ
I T

(1) () 9T () & P gHA oM () (o) o (b) & R g o

(3) (b)z faum g am @) (o Ruw g e

Identify the incorrect statement :

(a) Church Missionary Society started their center in Konkan

(b)  Scottish Missionary Society arrived in Mumbai in the year 1822.

r(c:) London Missionary Society started their center at Ratnagiri in 1815.

Answer option :

" (1) (b) and {(c) are incorrect (2) (a) and (b) are incorrect

(3) (b) is incorrect - 4) (o) is incorrect

17.

%@ﬁwmwﬁﬁmwmw (1843)?111:211%?‘115356101?

(1) =Irgwer dhed (2) Fe=c Ry
3) Fem | @ o
Who is thé author of “Historical Sketch of the Bhill Tribes of Khandesh” (1843) ?
(1) éhashi Bhushan Chaudhari (2) Vincent Smith
. (3) Grahe;m _ | (@) James Mill |

FAT FEFAT AT / SPACE FOR ROUGH WORK
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18, WRAET dafs ReraeRan Frggd SR T guter Sie @

‘A’ ‘B’

(@) O gE |eRN @) TEE 99 1882
(b) ¥ex Wil (i) UG T 1854
() e | (i) HN /T 1956
d) IR deq s (iv) TEQ W 1948
Tt e

@ () (9 (d)
1 @ @ ) (@
2 O @ @ G
(3 @) ) @) O
(4 (@v) @) @ @
Match the pair of the committee apointed for educational development in India with its
establishment years.

.I'Af I'BI
(a) Charles Wood Committee/Wood's Dispatch (i) 1882 A.D.
(b) Hunter Commission (iiy 1854 A.D.
() Radhakrishnan Committee (i) 1956 A.D.
(d) University Grants Commission (iv) 1948 A.D.

Answer Options:

@ @® (g (@
1 @ @ @) 3
2 @ @@ @) @)
@) @@ @ ) @
@ Gv) @) @ @

19. O PEE TN FAGAGER el HAM M@
(@) dTEX FHEEl, 1793
(b) Tt B
(c) fiemn sfew s
(d) wRAE BfFEe BEa

i o
(1) (@), (b), (@, (d) (2) (b)) (@), (d)
@) (. (d), (@), (b) @) (d), (®) (@) (©

Arrange the Acts in their chronological ascending order.
(a) Charter Act of 1793

(b) Regulating Act

(¢) Pitts” India Act

(d) Indian Council Act

Answer options :

(1) (@), (b), (c), (d) 2 (), () @ )
(3) (o) (@), (a), (b) @ (D, () @ @

FS1 HIETS 9N / SPACE FOR ROUGH WORK PT.O.
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20.

12 A

¥N. 1911 A2 FRIRMY Recdl Gunvarard! sl e w9 g Se?

(1) A =

(2) fager e R

(3) IMA eI Hied

(4) RG] O HEERBY

In 1911, who set up the ‘Social Service League’ to improve the condition of the workers ?
(1) N.M. Joshi

(2)  Vitthal Ramiji Shinde

(3) Vaman Aabaji Modak

(4) Narayan Ganesh Chandavarkar

21.

AR T BT TR SRR el IR 3 TR ae?
(a) WX 3 gA

(b) BT Bl

(c) fowa g9 &+

(d) Fem S

Y SN

(1) (a) ST (b) Bar (2} (b) 3T () BEw

(3)  (a). (b) &M () B (4)  (b), (c) 3for (d) B
Which of the following European leaders attended the First Session of the Indian National
Congress ?

(a) Sir Allen Hume

(b) Henry Cotton

(c) William Wedder Burn

(d) William Jones

Answer options :

(1) (a) and (b) only (2) (®) and (©) only

()  (a), () and (c) only (4) (), (c) and (d) only

22,

HeT gl M SNHIE AT TS PR QG PR o ?

(1) - se-fRara’ & gaaa =] Fo.

(2) WRAE TER BiEs et AT |9 1929 Hed Srenfavar sreed SRETER ¥ siege 2.
(3) T 3] g AEE Fraa®HeE GO Fe. -

4) 9 9¢ 7 IR WY R .

Which statement is wrong about Maulana Abul Kalam Azad ?

(1) He started the newspaper Al-Hilal.

(2) He was the President of Indian National Congress Session held in Delhi in year 1929.

(3) He started the journal ‘Al Balagh *.

(4) He was a scholar of Urdu and Persian Language.

FoA1 FHEIE AP / SPACE FOR ROUGH WORK
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23. WWWWWWE‘W&WBSSWWWWW
HIUGIHRE GRS PO G AHen gel?

(a) TSI S R

®) T ahE

(c) Were Wil

(d) HFR TERT: HERR

ggi S

(1) B (a) (2) ®I (b) (3) (a) 3T (b) (4) a0 W

Which of the following committees was Appointed by the Prime Minister of India Pandit Jawaharlal
Nehru on 22 December 1953 for the linguistic reorganisation of the Indian States ?

(a) Fazal Ali Samiti (committee)

(b) Shah Samiti (committee)

(c) Mahajan Samiti (committee)

(d) Sanyukta Maharashtra Samiti {committee)

Answer options :

(1) (@) only ) (b)only 3) (a)and (b) (4)  All of the above

24, SEEORIG e Aok Ao HI FEURT 3N ¢

(1) ST s (2) TR i
(3) WRG WA (@) IhRma ifea

The Viceroy’s Advisory Board was called as .

(1) Indian Council (2) Viceroy Council

(3) Minister of India (4) Imperial Council

FS FHTATY TN / SPACE FOR ROUGH WORK PT.O.
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25, mmmmemmawﬁmmwm
SR ST VAR B o B9?
(@) e T I
(b) fawp W fvapBT
(€ FYINH Y9 GRETHY
(@) fa#. ooy
9 I
1) (@), (b) 3N (c) By (2} (b), () =nfr (d) Bt
(3) (a) 3 (d) v ¢4) =0 9 W
In Marathi literature which of the following writers had worked to create political awareness by
presenting modern and Nationalist ideas to the masses through their writings ?
(a) Gopal Hari Deshmukh
(b) Vishnu Shastri Chiplunkar
(¢) Krushnaji Prabhakar Khadilkar
(d) S.M. Paranjape
Answer options :
(1) (@), () and (c) only (2 (b), (c) and (d) only
(3) (a) and (d) only (4) All the above are correct
26. WRARIA 7EIiE THe ST $ed IwR a1 & Ao garen
(1) M — I THH (2) W BRI YHe
(3) §=YA — M yHe (4) $T — 9T ThH
Captain Dastur proposed this project under River Linking Project in India :
(1) Ganga - Kaweri project (2) Mala canal project
(3) Brahmaputra - Ganga project (4) Ken - Betwa project
27. R GER WAl WG AGHEd FEHe) qeel am?
(1) sl (2) aftea (3) sERer (4) Sireccforn
In which continent the maximum population is engaged in Agriculture ?
(1) Asia (2) Africa (3) America {4) Australia
28. ARG HU Yo G IO ARAE U BIOR BT A?

(1) Sooaw =@ (2)  oned deW (3) dfearege oM @) faee d=m
Which of the following plain is called Granary of South India ?
(1) Utkal plain (2) Andhra plain (3) Tamilnadu plain{4) Chilka plain

F=AT FHETS ST / SPACE FOR ROUGH WORK
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29, wFERTETEE RrENiEr SATAR PR Saal B9 AR E?

(1) TGS - TEEIRR — TRON — AR

Q) VEERER — URUT — FEYIR — WX
(3) SOYIE — WRT — TRON — FEEREAY
(4)  DOYIE - WA — FERRDER — TRom
As per the height which descending order of peaks in Maharashtra is correct ?
(1) Kalasubai - Mahabaleshwar - Torana - Salher
(2) Mahabaleshwar - Torana - Kalasubai - Salher

(3) Kalasubai - Salher - Torana - Mahabaleshwar
(4) Kalasubai - Salher - Mahabaleshwar - Torana

30, PRV YA WA PR RO qe an?
(a) WERTSIA VBV YA Tgur -y 382 &6 A, oM.
(b) HERTET BB IEHFIER 38 T 3.
(c) aia @ig el 6.45 6 A A .
(d) ot Sa g 65 Wex S A,

Wi o : |
(1) & (a), (b) 3T () (@) B (b), {c) 3T (d)
(3). W& (a), (c) ST (d) @) (@, (), (© 30T (d)

In relation to Konkan Railway which following statements are true ?

(a) The length of konkan railway in Maharashtra is 382 kms.

(b) In Maharashtra there are 38 stations on Konkan Railway.

(c) The longest tunnel length is 6.45 kms.

(d) The highest bridge height is 65 m.

Answer options : '

(1) Only (a), (b) and () (2) Only (b), () and (d)
(3). Only (a), (¢) and (d) 4@ (@), ®) () and (d)

31 W PR T R e o ?

(1) o TRE e q@ A Frjem

(2) i wFRIen WA

(3) ST THIOT HH B0

(4) T wE

Which of the following is the millennium development goal ?
(1) Eradication of extreme poverty and hunger

(2). Promote gender equality

(3) Reduce child mortality
(4) All of the above

oA FTHTAT 9RT / SPACE FOR ROUGH WORK _. PT.0.
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32, SHT AN BRI TR THeT Bo TEER ma?
(1) ar enfdr andr (2) WEFd
(3) wEIHA sy war (4) . ard _
The Ukai and Kakrapara irrigation projects are situated on the river :
(1} Narmada and Tapi ' (2) Mahanadi
(3) Sabarmati and Narmada (4) Tapi
33. W@l Rerei=r I Sren @@
(a) Igden @ wm O T
b) WvE (i) BRIH™ () SRR
(© I (i) VerERAY () s
(d) HRTFIHT (iv) e (Iv) <féror s@feT
T |

(1) (a)-(iD)-(Iv) (d)-(iid)-(ID) (b)-(i)- (1) (©)-(iv)-(I)
(2} (©-()-() (b)-(ii)-(IN)  (a)-(ii)-(IV) (d)-(iv)-()

(3) (@-@)-Im) ()~ (@)-(i1)-(IV) (b)-(iv)-()

@ 0)-6-0 @@  @-G)-A)  ()-)-Iv)
Match the following suitable pairs :

- Country ' ~ Capital : Continent

(a). Venezuela (i Sana - (I)  Europe

() Cyprus (ii) Caracus . (II) Asia

(c) Yemen (iii) Antananarivo (III) Africa .

(d) Madagaskar (iv) Nicosia - (IV) South America

. Answer options :

(1) @-@)-Iv) = (d)-(ii)-1T) b-0-An) (V)
(2)  (©-()-aD (b)-(ii)-(TII} (@)-(i)-(1V) (d)-(iv)-(O
(3)  (d)-(iii)-(IID) (©)-(D)-(1) (a)-(i)-(IV) (b)-(iv)-(D)

34.

@  (®-O-(0 (c)-(ii)-(1T) (d)-(iii)-(TID) (a)~(iv)-(IV)

T e RN SR AR ST e e Rrewine e,
(1) s, 3, TS (2) B, IS, IR

(3) s, e, Riggt (4) RYE, B0, IARRT

Major concentration of the tribal communities in Sahyadri group is found in the following
districts. ' | ' '
(1) Nasik, Thane, Raigad (2) ~Thane, Raigad, Ratnagiri

~ (3) Raigad, Ratnagiri, Sindhudurg (4) Nasik, Thane, Ratnagiri

FEA1 FHETS AN / SPACE FOR ROUGH WORK
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35. U Ger dp@ErEr (B, fFd) S wrEer BHIE I,

1) T

(1) Europe

2) o s@ler  (3) sefE®
According to area (in sq.km.) it's a fifth number of continent in the world :
(2) South America (3) Antarctica

Y15

36. Wl T ST IRAegT ST WRATHS Wl Jeal el W] UGl Teheara) HHar e .
(1) FM, TR, BROIYRT, EGTHTCT
(2) S, FHBIART, MEAHE], TRIYT
(3) S, IEFYET, TRIYR, BIHTIRT
(4) GG, F, IR, BROARI
When you move from South India to North India the correct sequence of Nuclear Power Plant you

will get is :

(1) Kaiga, Tarapur, Kakrapara, Rawat Bhata
(2) Kaiga, Kakrapara, Rawat Bhata, Tarapur
(3) Kaiga, Rawat Bhata, Tarapur, Kakrapara
(4) Rawat Bhata, Kaiga, Tarapur, Kakrapara

37. RO Y@ TG J A YHOT b el I Siren

4| onid (fp )
(a) Ty i) 2960
(by 7 (i) 1312
(c}y YAl (iii) 2880
(d) =T (iv) 2525
A S
(@ @ (o (d)
(1H (@@ @H ) @@
(2 @ (@) @Gv) (i)
(3 @) (v} @ (1)
(4) @ @) @) @
Match the correct pairs of major rivers in India and its total length :
River Length (k.m.)
(a) Sindhu ) 2960
(b) Ganga @ 1312
(c) Brahmaputra (iii) 2880
(d) Narmada (iv) 2525

Answer options :

(@ (b) (o)

(d)

1 @ @ (v @

@ ) @ (v (i)
v (i)
(i)

() (i) () ()
(4) (D) (@) @)

F=A1 FHTEWE AR / SPACE FOR ROUGH WORK
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38. IRY WA @
(a) TIHAMIHA (i)

o

(b) ofcTmT (i)
(© =g (i)
(d) & (iv) -
T v -

@@ @) () (@
1) @@ @ @) ([
(2) () () @ ()
(3 (v) @) @H) (i)
(4 @Gv) () GO (i)
Match the suitable pairs :
(a) Taklamakan (@)

(b) Atacama (ii)
(c) Newbiya (iii)
(d) Gobi (iv)

Answer Options :

@ (b) () (d)
1 @ @ @v) (i)
(2) () @ @ (@)
@) (v) (@@ @) (D)
(4 (v) @O @) ()

I r AT o £, ST R A ST T T 5,1 £ i T et b e it

18 A

foeh 9 v

Chili & Peru
Sudan
Mangolia
China

39. fafdy Iweer fFa1 o=
ORI 7
(a) THEA THTE
(b) &=EA FHTR
(c) HHOTN BT
(d) P AR
i) I
(1) (a) T (b) TR
@) BT () TR

g9l TP NI YTl I FA AHTINAT HIVRAT YHTRE TR TR

(2)  (b) WIS
@) (d) TR

The maps prepared by using different colour shades or black & white patterns are called as :

(a) Isopleth map
(b} Choropleth map
(c) Isoshadow map
(d) None of these

~ Answer Options :
(1) (a) and (b) correct
(3) (b) and (c) correct

(2)  (b) correct
(4) (d) correct

F=1 FTHTETY SN / SPACE FOR ROUGH WORK
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40. QN o= Iry s oMl

REUL
(a) Pom
(b) e
()
(d
Tt v

@@ (b) (o)
1) Gv) @) ()
2 () @ @
(3) @) @v) ()
@ O @) @

Match the following suitable pairs :

River
(a) Krishna
{b) Godawari
() Tapi
(d) Narmada

Answer options :

(@) (b) (o)
D (@) @ ()
2 @ & @
(3) (@) (v) (i)
4 O ) @

Rising place
(i) Brahmagiri hill
(i) Mahadev hill
(i) Maikal hill

(iv) Sahyadri Mountain

Y15
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HERTSGIA 9919 WobR 9 99 @1 a-R9dy giey arg el ofmar ¢

(iv) o>

Match the correct pairs of forest types and vegetation in forest of Maharashtra :

41.
TS YBR
(a) SwTRdST TIERT T
(b) SUHlcEy W TEERT ™
(c) &% 9HsEl T
(d) T TS a1
qafd o
@@ ) () (@
M Gv) @) @) @)
(2 @) @ (@) G
G @) @@ @O @)
() (@) vy @) (i)
Forest type
(a) Tropical evergreen forest
(b) Tropical semi evergreen forest
() Moist deciduous forest
(d) Dry deciduous forest
Answer options :
(@ () (o (d)
1) Gv) @ () @
(2 @ @ @Gv) @)
@ G (@@ @ @)
4 O Gv @ (@)

Vegetation
(i) Nana
(i)
(i)

Shendari

Sedar

(iv) Yerul

F520T FINEE AT / SPACE FOR ROUGH WORK
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42. gaui TS AN GRlel AF [T SfaR Jiedn Ay s .

i i (R )
| (4) et -—ga3 (i) 1453
() Fad-a=d () 1684

() IT-BromT () 1290
(d) Prep-fah (iv) 1419
i S
_ (@ () () (4
1 @ @ @Gv) (@)
2 @O @ @@ @)
@y () @Gv) @ G
(4 (v) @) @@ @
‘Match the correct pairs of Roads and their respective distance in Golden Quadﬁlateral. ‘
Road " Distance (k.m.)
(a) Delhi-Mimbai G 1453
(b) Mumbai-Chennai (i) 1684
() Chennai-Kolkata (i) 1290
(d) Kolkata-Delhi @v) 1419
' Answer Options :
@ B (© @
1 @ @) () (i)
@ @ @) i) (EV)
3 G @) @ @
@) Gv) @) @ )

F=A1 FIHIES A / SPACE FOR ROUGH WORK . | PT.O.
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43. HERTENA U S 9 W@ fSwondr 3vg e .

(a) T | (i) SfEen
(b) TS (i) TR
(© = (i) T
(d) Ha i (iv) ST
i s

1) @) @) @ 6
@ O @ @ G
@) @ @ @ 0
@ G @6 @
Match the correct pairs of National Parks & their Locations in Maharashtra.

Nétional Parks Locations
(a) Navegaon | - ()  Borivali
) Gugamal () Nagpur
(c) Pench (iii) Gondiya
(d) Sanjay Gandhi (iv) Amaravati

Answer options :

@ B © @
O ™ @ @ o
@ O G ) G
@) @) @ @ O
@ @ © 0 W

ool FTTATE AR / SPACE FOR ROUGH WORK
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44, TAE TRET Hewrd WY GEWT AFEHIIR WSl Fo Arg wHINE as F.

(a) siEEE iy freER 3
(b) AT
() =dTS

(d) TR afor TR wded

(0 TgI0
I S
1) (@), (d), (e), (), (b) (2) () @), (), @) (e
3)  (b), (9) (a) (e), (d) @) (®) () () (), (@)

Arrange the following according to ascending area of the Indian Union Territory and choose the
correct sequence :

(a) Andaman and Nicobar Island
(b) Lakshadweep

(¢) Chandigarh

(d) Dadra and Nagar Haveli

(e) Puducherry

Answer options :

(1) (@ (@) (o) () (b) (2)  (0), (a), (), (), (e)
3 (®) © @ (). (@) 4)  ®) () (@), (), @

FoA1 HITHIS 0T / SPACE FOR ROUGH WORK PT.O.
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45, WERTSRA TRY 0GR SR 9 i fam argerr Nee gi=nr darg Sear @mEl.

TR oY IR oo (foren)
(a) =@ @ g
(b) wTEEEl (ii) TETER
(c) TAFe (i) NTITS
(d) Sued (iv) STRTeRi
T SR

@@ (b) (@ (@
1) Gv) @) G @
@ O G (@) (i)
@) @ @ () ()
@ @) ) G) @)

Match the correct pairs of Hot water spring and their Locational district in Maharashtra.

[

Hot water spring Location (District)
(a) Sav (i) Jalgaon
{b) Salabardi (ii) Palghar
{c) Sativali (iii} Raigad
(d) Upandev (iv) Amaravati

Answer options :

(@ (b) () (d)
1)y @v) @) @ @
(2 @ ) Gv) (i)
@) @ @ @) )
(4) (@) @v) @ @

46, TIHA SINRIG IR FA' AL AT T FAITE Sl IAE.
(1) e IR RE (va® wsHAr )
2) A Rve i (Faa)
(3) T Hiee IF (FH UG WRAR)
4) e =F (EF yaE)
UNESCO has included this place in ‘World Heritage List’ :
(1) Great Barrier Reef
(2) Great Rift Valley

(3) Great Salt Lake
(4) Great Plain

FAT FIWETE AN / SPACE FOR ROUGH WORK
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47. W e ARy s o1 SRl St ae?

(a) T R eraven

(0) TR g s

(c) W qfg saxm

(d) T < eraeen

T S

(1) I 98 (2)
(@) sfRew reaen (4)

Following stages are related with

(a)
(b)
(c)
(d)

High stationary stage
Early expanding stage
Late expanding stage

Low stationary stage

Answer options :

(1)
(3)

Population growth (2)
Over population (4)

B ET TpHUI

Demographic transition

Optimum population

48.

T PIBNAA FTEFAT FAOITAR HIOET STl F9 qER 37

1)
2)
)
(4)

g - e - e - B
fefrm — A — darerde -t
sforare - Righrm — dde — e
sfererée — e ~ figfrra - e

Which descending order is correct as per the percentage of carbon in coal ?

1)
2)
(3)
(4)

Bituminous - Anthracite - Lignite - Peat
Bituminous - Lignite - Anthracite - Peat
Anthracite - Bituminous - Lignite - Peat
Anthracite - Lignite - Bituminous - Peat

F5AT HWES ART / SPACE FOR ROUGH WORK

PT.O.
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49. @RS fFuam v
 (a) Y SWRT SR dae Reeamng 2R
(b) ST HaG GG WY SAET YRGB,
(€©) RN IRNE FrR TR FREFT BETERE AT o,
gy ey :
(1) R (@) ot (b) TR s
2 R () afr () Wew ama
(3) faER (a), (b) A () WM amea
4 T W g Raw Tl

Observe the following statements :
(a) Lac is produced from lacciferlacca insects.
(b) India is the largest producer of lac in the world.
. (¢)  The security paper producing factory is at Hoshangabad
Answer options :
(1) Statement (a) and (b) are correct
(2): Statement (b) and (c) are correct
(3) Statement (a), (b) and (c) are correct
(4) All the above statements are incorrect

50. ARG BT BT USHUIA Y W@HU DIV 7

(1) UPISH IfTHEsS (2) et
3 fe= (4) FEA AATEES
What is the main form of air pollution by agriculture ?
(1) Sulphur dioxide (2) Ammonia
(3) Methane (4) Carbon monoxide
51. 1946 HeY WRYM WHeT SqEiCAel AfEET G GRSt S SR |iewer S el
B 7
(@) FTET (b) USRS
() AR TaR (d) FT PR
T 9ay :
(1) W& (b), (o) (2) I (a), {d)
(3) W (b), (d) (4) w9 (a), (b), ()

Which of the following countries had sent goodwill message to the Constituent Assembly at the
‘inaugural session in 1946 ?

(a) USA (b) Republic of China
" (¢) - Government of Australia (d) Government of Canada
Answer Options :
" (1) Only (b), (c) (2) Only (a), (d)
(3)  Cnly (b}, (d) (4) Only (a), (b). ()

T HISTATE RN / SPACE FOR ROUGH WORK



M

A 27 Y15
52. mﬂwﬁm@@ﬁnﬁmﬁﬁmﬁmmq@?
(1) & AR e . s,
(2) @@ @ 35 .
(3) fﬁﬁﬁmﬁmﬂwwwmmm
(4)'enwﬁwwwrmmﬂwm : ,
Which one of the following qualifications is mot required for the post of President of India ?
(1) ~ He must be an Indian Citizen. '
(2) He must have completed 35 years of age.

(3) - He should be eligible to be elected as a member of Lok Sabha.
(4) Hemustbea member of one house of Parliament.

53. ﬁa@ﬁma@aﬁﬁaﬂv@ﬁmﬁmw?
(a) AAGR A& TR B,
(b) Pracu@E ARG B
(©) Wﬁmﬁwwﬂm
(d) Wwﬁwwmaﬁmmmmm

A SN -
(1) (a), (®), I I 2) (a) (o), (d) T ame
3) (o), ) (d)F8 Sl ' @) (d), (), (b) TH e

Which of the following sentences is true regarding Election Comumission of India ?
(@) Creating voter’s list.
(o) Conducting elections.

. (c) Issuance of caste validity certificates to the candidates.
(d) Scrutiny of applications- of candidates applying for Lok Sabha elections.
Answer options :
@ (@) b) (s true @ (@) (O () is true
(3) . (@) (b), (d)is true @) (@), (@), b) s true

54. u\w wHA/ .

@) mewssq@aﬁ#ﬁmmagﬂaummmw_
- e B

(b) -TREE ST, 1955 WRAR ARG G FOAS 7 TEH FIH DAL

ol S ‘

(1) I (a) BIA ‘ ) (2) HEA (b) HI
(3) B8 FUF (a) T (b) (a8) ) T
Select the correct statement/s. ‘

(a) The Citizenship Act was passed by Parliament in 1955 in accordance with the powers vested
in it by Article 11 of the Constitution: '

(b)  The Citizenship Act, 1955 provides seven modes of acquiring the Citizenship .of India.
Answer options : _ :

(1) Only statement (a) (2) Only statement (b)

(3) Both the statements (a) and (b) (4} None of the above

FoAl FWETS AW / SPACE FOR ROUGH WORK \ PT.0.
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3) Wﬁwﬁﬁmmmmﬁmﬁéﬁ
(4) qﬂhmmmammgamnm |

Which Fundamental Duty was included in the Indian Constitution by the 86" amendment in
2002 ? ‘ _ '

(I)  To respect the national flag and nahonal anthem.
(2) To Protect Public Property.

(3) Parents should provide educational opportunities to their children between the ages of
6 to 14 years. ‘ : '

(4) To protect and improve the natural environment.

56.

1) g frsn (2) 9O e Yo
3) SINIR. sdeay (4) RS éﬂrg

Who has said, “Using the back door for entering in parliament means becoming a member of the
Rajya Sabha ? :

(1) Bibhuti Mishra - (2) Pandit Jawaharlal Nehry
(3) Dr. BR. Ambedkar . (@) Morarji Desai

57.

AR R et Wt fiega TR ony oRy Wi medt sy 2

(1) = VIR, s (). vET e Y

(3) W R wftw (4) w%af’rfm"

Who said, “that Indian Constitution is the most largest Constitution in the World” ?
(1)} Dr. BR. Ambedkar (2) * Pandit Jawaharlal Nehru.

(3)  Sir Ivor Jennings _ (4)  Sir Henry Maine

A FITET T / SPACE FOR ROUGH WORK
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58, T HUA/T DG,

(a) mmm@w%mwmmwﬁmmm

(b) mm@mwmwmmmmmmmm.

gl S

(1) I (a) P (2) I (b) B

@) 8 Fe (a) AOT (B) 4) IS T

Select the correct statement/s.

(a) The President is empowered to extend the life of the house of people for one year at a time
during national emergency.

(b) This extended life of the house of people cannot be extended beyond six months after the
promulgation of the emergency has ceased to operate.

Answer options :

(1) Only statement (a) (2) Only statement (b)

(3) Both the statements (a) and (b) (4) None of the above

59, TEiEEel GRS BoR REE g I ?
1) aﬁwﬁ%ﬁa@aﬁaamﬁé&mwwﬁmﬁa@ﬁawm.
(2) mﬁu#ﬁmmﬁ’a@a%mﬁwﬁmmwmm.
(3) wﬁﬁwmﬁwmamﬁwmm
4) e g T fHagel WEN.
Which of the following statements about the President is wrong ?
(1)  Elected and nominated members of the Lok Sabha participate in the presidential election.
(2) Tenure of the President is mentioned in article 56 of the Indian Constitution.

(3) The President can be impeached for violating the Constitution.
(4) The President is elected by the representatives of the public.

60, e TReEEE @ieheta I HUT JEE.
1) oS weRe W) watE ~UEeTeT SRR U el et
(2) St SRE & T qo srid ST TeTER YT
(3) HRGmEl Al e B AhrisoE W .
(4) FeSt SR HEEE A WHER WNoT GYvar RS e e,
Select the incorrect statement from the following about Attorney General ?
(1) The Attorney General must have the qualifications of a judge of the Supreme Court.

(2) The Attorney General shall hold the office during the pleasure of President.
(3) Attorney General is member of the Cabinet in India.

(4) Attorney General has privilege of addressing both houses of Parliament.

T FETE AR / SPACE FOR ROUGH WORK PT.0.
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61. URY Ho/Y i,

(a) Wl?@ﬁ%ﬁﬁﬁ%@ﬁﬂa%ﬁmw%m.
(b) I 1955 WY SgREAT TR PRI siwena oA,

gty TN :
(1) W& (a) (2) wad (b)
(3) (a) ¥ (b) AFES (4) ST AR

Select the correct statement/s.

(a) Article 17 abolishes untouchability, and its practise in any form is made an offence punishable
under the law.

{b) The untouchability (offences) Act came into force in June, 1955.
Answer options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) None of the above

62. SIS wE. (qEYd IPR)

n B
(a) TS < SRRGvaTRn Wawia waw (i) 7. 23,24
(b) ST 7 Jafre T Ga (i) e/ 20
(c) 9CH T ITH URET HYEm (i) 9rg. 22
(d) AieE sftrer (iv) e 21

T S
@ (b} () (q)
1) ) @) @ )
() @ (@v) (@) i)
() @) @) (v) @
4) @) @) @@ @
Match the pairs. (Fundamental Rights)

% B
(a) Protection in respect of conviction for offences (i)  Article 23, 24
(b)  Protection of life and personal liberty (i) Article 20
(c)  Protection against arrest and detention (iif) Article 22
{(d) Rights against exploitation (iv) Article 21

Answer options :

@ () (0 (d
1) Gv) ) @ (i)
() @@ @) (@) (i)
() @) @ @ @
@) @@ (v) @) @

F=A1 FHFETS AT / SPACE FOR ROUGH WORK
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63. <I. § R, TATHIN AR TSI B S ARG IoFeTd §9d ST I
waee AE 7
(1) RO IguS S - 29
(2) WRAE SgEeTd HeM — 32
(3) WRAN™ IUSTY HEH - 28
(4) WRAG ISYUST HeH - 25
According to Dr. BR. Ambedkar which article of the Indian Constitution is its Heart and Soul ?
(1)  Article - 29 of the Indian Constitution
(2) Article - 32 of the Indian Constitution

(3) Article - 28 of the Indian Constitution
(4) Article - 25 of the Indian Constitution

64. T, T AN FATIUR, WRAW AGUEE URN SRR SRy iadd sl e o
BIORA e 7

(a) FHEAC PR
(b) HeERTSUAR
(¢) OTeE TEEH

d) eHfRYsa

(e) U ERUMA AFEYE T

TR S

1) B (b), (©) (). (o) (2 B (), (). (). (a)
(@) ®F (b), (), (d) @) a0 wd

According to M.V. Paylee, which are the basic principles embodied in constitution which form the
foundation of democracy in India ?

(a) Cabinet Government

(b) Federalism

(¢) Judicial independence

(d) Secularism

(e) Directive Principles of State Policy
Answer options :

(1) Only (b}, (c}, (d). (e) (2) Only (), (d), (e). (@)
(3) Only (b), {(c), (d) (4) All of the above

FEAT FTHEI S0 / SPACE FOR ROUGH WORK PT.O.
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65. WERTSER YA 3T el BRi®e A Sre o,

TRRTGT JEaHA BRIBTS
(a) GIBY ARSD () HF 1995 9 HgaR 1999
(b) TEERE SN () SRR 1999 F FHE 2003
(c) ghEgaR R (it) WHERT 2003 4 AR 2004
(d) foemaRE @ (iv) S 1991 % A9 1993
il S

(@ (b) () (d)
1 @ @) @G @)
(2) (@@) @@ @) @
3) Gv) @ @) @)
(49) () @v) @ ()
Match the Pairs-Maharashtra Chief Ministers and their tenure.

Maharashtra Chief Minister Tenure
(a) Sudhakar Naik ' (i) March 1995 to February 1999
(b) Manocharrao Joshi (i) October 1999 to January 2003
(c) Sushilkumar Shinde (iii) January 2003 to November 2004
(d) Vilasrao Deshmukh - (iv) June 1991 to March 1993

Answer options :

@@ @ () (d)
1 @ @) @ )
(2) @@ @ @) @
@ ) @ G 3G
4) @) @) @ i)

66. ARG FU/A s,
(a) PHTAR FAFT FAGR T anffes wa=aral SfeR MRS 9 WoE T FgT STere
Az,
(b) el WA ARER, WEEE PR ARG 9 e IiFl ST e,
i o
(1) ™ (a) (2) wE (b)
(3) (a) 31 (b) SEA (4) TS AR

Select the correct statement/s.
(a) Right of equality before law and religious freedom are available to citizens and aliens also.

(b) The right of freedom of speech, right to assembly are available to citizens and aliens also.
Answer options : '

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) None of the above

FoAT HHTETS AR / SPACE FOR ROUGH WORK



A 33 | Y15
67. @A Rum fErm =0
(a) XTETA YAWETREl SHUE Bl
(b) UEUHH HEIET Y &
(c) wAFSs AFIE FIEEER I,
(d) FAFSEE Heel WA TR e
TP PO [Jare/Ram a=” o ?
(1) (b) o7 (d) SRR e, (2) - (a) o7 (b) SRR L.
(3) (c) SfdT (d) TR e, 4) (a) ST (c) TR MR,
Consider the following statements : :
(a) The President appoints the Prime Minister.
(b) ~ The Prime Minister gives oath to Ministers.
(c) Cabinet is responsible to the Lok Sabha.
(d) Cabinet's advice is not binding on the President.
Which of the statements given above is/are correct ?
(1) (b) and (d) is right. (2) (a) and (b) is right.
(3) (c) and (d) is right. 4 (a) and (c) is right.

68. vﬁwa@rm@wmmﬁwsﬁﬁ%@a s I feiedn e eiftrerig e
() ogHT 18
(b) ITBT 19
(c) =T 21
(d) -SrIT 25
(e) T 2
TR IR

1) ®F (a), (b), (c) . @ ®H (9, (d) (@)
(3) BT (b), (d), () @) T (b), (o) (o)
Under the Constitution, the writ of habeas corpus is sought to safeguard the Fundamental Rights
guaranteed under Articles -

(a) Article 18

(b) Article 19

(c) Article 21

(d) Article 25

(e) Article 22

Answer options :

(1) Only (@), (), (©) (2) . Only (c), (), (e)
(3) Only (b), (d), (&) (4)  Only (b), (c), (¢)

Fe HIEE! AN / SPACE FOR ROUGH WORK "PT.O.
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69, e @, (§RuE @) |
‘A
(fr)
(@) g whrh
(b) armmm (Credentials) Wit
() Ty TR SR
() SegHEE STadh
R
@ ® © @
O @ @ @ 6
) @) (@) @ @)
(G) @ @O @ (@)
(@) @) () G @
Match the pairs-(Constituent Assembly)
_ a ‘
{Committee)
" (a) Steering Committee
- {(b) Credentials Comnﬁttee
() Fundamental rights sub committee
(d) Minorities sub committee
Answer options. :
@ ) © @
V) v @ @ 6
@ ) @ O @
@ @ O @ @
@ @ ) @ 0

34

@

)

(iv)

(1)
(i)

(iv)

‘B’

(ram) |

TE . gEet

- A FuE

IO TG

TR PRGN AT

B’
(Chairman)
H.C. Mukherjee
]J.B. Kriplani
Rajendra Prasad
Alladi Krishnaswami Aiyar -

e SRR SR / SPACE FOR ROUGH WORK
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70. AFG HAT/ DG
(a) U BIOTEHE SWISTH LU TS PG A @ BIER MY G ARGER T
R < Brile.
(b) SRTCHN W& WU UH B FET SRS fbar BRINR e Sriet T o XIS FHo WA
¥4, 9 9 FRwfeR freva 9 .

TN I
() (2 P (2) (b)®H
3) (a) AT (b) I (4) TS T

Select the correct statement/s :

(@) During the period when the Vice President is acting for the President he will have ali the
powers and immunities of the President.

(b) Vice President is entitled to the same emoluments, allowarnces and privileges as the President
while he discharges the functions of or is acting as the President.

Answer Options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) None of the above

71. WD DAl YgalgR dae AEFSer Straiia gffkea s ?
(a) wHHEASH T
(b) fdvE™ =T
(c) olau=s T=
(d) <™ YR

g I
(1) w9 (a), (b) (2) ®d (a). (b), (0
(3) wad (), (d) (4 TP T

Parliament ensures ministerial responsibility, by which of the following methods ?
(a) Questions in Parliament

(b) No Confidence Motion

(c) Budget Discussions

(d) Adjournment motion

Answer options :

(1) Only (a), (b) (2)  Only (a), (b), (c)
(3) Only (c), (d) (4)  All of the above
72. SR AR Peter HE IET eaaad] 9ew WA ame. (8 ST 2022 <A
T SARIYHTY)
(1) 288 (2) 548 (3) 237 (4) 78

Excluding the members nominated by President, the number of members of Rajya Sabha is
(as on 8% August 2022).

(1y 288 (2) 548 (3) 237 4) 78
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73. SIS @@ (TRAAE Areee a)). |

‘A’ -
(a) HF HIVEET AfBR () orgTw 44
(b) WA TN HrES () oY 47
(c) WHEGfTS ARIYHE IR (i) oY 42
(d) WS e (iv) DT 41
i I -

@ (b) () (d)
L W @ @
2 @ @ Gv) (i)
(3 O @ G @
4 @) @ @) (@@
Match the pairs (Directive Principles of State Policy).

7% B’
(a) Right to work (i) Article 44
{(b) Uniform civil code (i) Article 47
(c) Improvement of public health (i) Article 42
(d) Maternity relief (iv) Article 41

Answer options :

@ () (o (d
(1 G(v) @ G ()
(@) @ @ Gv) @)
@) @ @) Gv) (@)
@) vy @ @) (@)

74. "SNP & WREFE e o, & WRYE ve freeh R o Wieletd S wed g ?
(1) IR FURIH! I (2 YT AP IW ArlE
(3} STH. FUAH (4) dEA. 39
Who among the following said that, “Preamble is the soul of the Constitution. It is a key to the

Constitution” ?
(1) Alladi Krishnaswamy Aiyar (2) Pandit Thakur Das Bhargava
(3) ].M. Kriplani (4) BN. Rao

FAT HITETS AT / SPACE FOR ROUGH WORK
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75. QU TRUERIGN ARGM _ RIS¥EHSTY SFJERU el e,
(1) e@Rean (2) <RmaTEd (3) FTeT= (4) wTE=N

Provisions regarding the appointment of the Governor were borrowed from the Constitution of

(1) America (2) Russia (3) Canada (4) France

76, WRAEE T A GRS GRET JUTTEE WO TRV VSR Aol YR BROG el Bl
7 oY GRS PR S B?

(1) oW 5[ g+ GRIoT.

(2) T AT STERET GHRUAMIS! T SN Gl
(3) ISR &FF & AT TP 9.

(@) P AR ISR g0

What was the objective of the Grameen Rojgar Yojana which was initiated as a part of the
programme towards providing social safety to poor in India ?

(1) To provide food for work.
(2) To provide wage employment in rural areas to improve food security.
(3) To make ‘right to work’ as a fundamental right.

(4) To provide employment for landless labourers.

77. ATRIMLY URIOER 467 &0 ™ GERUT HRUArErs! B TH W WeET .
(1) 9 | (2) Fga G
(3) wEIE | (4) FIMET AR

is a permanent structure for the continuous improvement of the banking sector at the
international level.

(1) Byasal Committee (2} Casal Committee

(3) Musgrave Committee (4) Verification Committee

A1 FHTEIS AT / SPACE FOR ROUGH WORK PT.O.
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78. el PG fum/RAas RER s/ ?
(a) <vTT Ul ORI W9 1871 HeY Svalg Sel.
(b) UM 2011 @ WRAFHGRE HEE FIOAT ST G Yol YERME SO oM.
A4 S
1) fuF (a) WR (2) Taum (b) AR
(3) faum (a) 3nfr (b) SRR (4) Rum (2) 31l (b) T
Which of the following statement/statements is/are true ?
(@) The first census in the country was conducted in 1871.
(b) Census 2011 is the seventh census since independence and the fifteenth in a continuous
series.
Answer options :
(1) Statement (a) correct (2) Statement (b) correct
(3) Statements (a)} and (b) correct (4) Statements (a) and (b) incorrect
79. WH4 fdoprg s we A wRee frdeier eeg Aigen .
(1) 1995 (2) 1996 3y 1997 S (4) 1998
Human Development Report introduced the concept of Human Poverty Index.
(1) 1995 (2) 1996 (3) 1997 4y 1998
80. TUINHTHH. RTEY AT FAEU Y1) TAR GRIMRI] 49 Hehedl & e -

(i) AR SRR R

(i) TRl SMSTSAEl SRR el
(i) smerEn kT ARSI R
(iv) | 180 REw Irormer Rerh

qqid) oo
(1) wad (ii), (iii) 3T (iv) (2) Wad (i), (ii) ST (iii)
(3) wad (i), (iii) 70T (iv) (4) W (i), (ii) 30T (iv)

The three concepts of unemployment as per NS50 :

(i) Usual status unemployment

(i) Current weekly status unemployment

(iii) Current daily status unemployment

(iv) Consecutive 180 days of unemployment

Answer options :

(1) (i), (iii) and (iv) only (2) (), (i) and (iii) only
(3) (i), (iid) and (iv) only (4) (i), (i) and (iv) only

FH=AT HITER AT / SPACE FOR ROUGH WORK
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81. R geun 4R FewTHSY AW SHOTR AR B Sewin W A
(a) e A | | | |
(b) wﬁﬁa_m fawerin
(0 wRemTFA
d) o ud
et P Rrer /R TR S/ ? |
(1) @3 @ ®IC () @I (@) ww @)
Financially disadvantaged components are largely comprised of which of the following factors ?
(2) Landless labour - |
(b) * Physically handicapped
{c) Womt;n and children
(d) Al of the above
Which of the statement/statements given above is/are correct 7
1) @and®) (@ Gand@ () @and@© @ Ony(@
82. WA PR YERUN ARTHE 1991-92 WX Reapreremn R darfier geroren A =7

(1) Yenfrepar g wOT Snfdr Ikg AfEE TeieR A WS ue.
2) WER PA AW IERIEGAR B e,

(3) TrRIE THEEST FUOTETES I G SRl

() AN TR WA HIVGES SIS BT,

Which of the following is not a part of reforms in financial sector of India initiated in 1991-92 ?
(1) Sharp decline in SLR & CRR. '

(2) Market determined pricing for government securities.

(3) Measures to ensure financial inclusion.

(4) Measures to strengthen risk management.

T HTATAE S / SPAGE FOR ROUGH WORK ' ' - PY.0.
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83. g ﬁmﬁr ﬁﬁmﬁ I
(a) émcopwér%mm%wso% frsmsaﬁmsaﬁ
(b) @mmaﬁﬁa-wmﬁmWWWW
(¢} 2020217 amﬁas T el & 9.4 THE s?m " smr?r
g3t s :
(1) R (@) T (b) a'@ra*\r, ©TF
(2) R (b) T () TR, (a) T
(8) R (@) T () WRR, (b) T
(4) 99 M R
Consider the following statements :
(a) The share of the service sector in the country’s GDP is more than 50%.
~(b) The COVID - 19 had a major negative impact on the service sector.
(¢) In the financial year 2020-21 the service sector declined by 9.4%.
Answer options :
(1) Statement (a) and (b) is correct, (c) incorrect
(2) Statement (b) and (c) is correct, (a) incorrect
(3) Statement (a) and (c) is correct, {b) incorrect
(4) All statements are correct
T ReTerd! e wiYeH WieleRd BT S wieel el B

84,

(1) w9 e Fdwie s
(2) YIS sEaa

(3) ke, o™ arEare

(4) TrERE smaR Eaa

In which of the followmg reports the concept of sustainable development was coined for the first

time ?
(1) Human Development Index Report

(2) Brundtland Report

(3) World Development Report
(4) Planning Commission Report
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85. &R 2000 9L GT Folew € e fmErr & S 21

(a) e T AR geROT

(b) waths Rreomar @ JaEw

(c) YT ARG WEuFE HIo QR0

g S
(1) wad (a) TEX L (2)  (a) MM (b) TRET ameT
3) (a) MR (c) TR aMF @) (b) ST () R 3

Sarva Shiksha Abhiyan (SSA) launched in November 2000 aimed at :
{(a) Improved performance of school system

(b) Imparting quality in elementary education

(c) Providing mid-day meal at school premises

Answer options : '

(1) Only (a) is correct (2) (a) and (b) are correct
(3) (a) and (c) are correct (4) (b) and (c) are correct

86. T Rowrde frR affe Tew _ emy/em.
(@) wHE Hae
(b) difw fegor
(c) TTHT W
(d) s MR
T 9
M @IDT® @ I @) @O @)

is/are the non-economic factors in economic development.

(a) Human Resources
(b) Technical Education
(c) Political Freedom
(d) Capital Formation

Answer options :

(1) (a) and (b) (2) () and (d) (3) (@) (B and () (4) All of the above

FAT FMTATA AR / SPACE FOR ROUGH WORK P.T.O.
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87. WERTE AMY e s/@del 2012 TR Has YoM o) ¥ecell TqHEx B
(1) TsfaRE (2} WER (3) e (4) TRER
According to Maharashtra Human Development Report 2012, Mumbai is the first and last was
(1) Gadchiroli (2) Chandrapur (3) Jalna (4) Nandurbar
88. viMfus e YRAET a©l 2% 99+ % T TefiTa WS JUR €R0 (2015-20)
7 SfgEe e,
(1) 25 2y 35 (3) 4.5 (4) 5.5
Foreign trade policy (2015-20) aims to raise India’s share in world export from 2% to
%.
(1) 2.5 (2) 3.5 (3) 4.5 (4) 5.5
89. wea feum faaRmE =0 :

(a) Wﬁﬁwﬁwvwmﬁa’mﬁeﬁﬁﬁm.

(b) AT STETET S I B, WE W 26.4% TP FRGAIERA M.

Toete DR R wRER e ?

1) ¥ () (2) &S (b) 3) 2 (@) RN (b) (4) T TE

Consider the following statements :

(a) According to the Rangarajan panel, the poverty line has been fixed at Rs. 47 in urban areas.
(b) This study estimates that 26.4% of people in urban areas are below the poverty line.

Which of the above statement is true ?

(1) Only (a) (2) Only (b) (3) Both (a) and (b) (4) None of the above

F=AT FFETATS JWT / SPACE FOR ROUGH WORK
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90, e T faaRE =0
(@) TETTE AN qdnem I S ST Hise.
(b) & 1867-68 U1 AN TSR SeqAl ST 2.
(c) ww@%@ﬁm"qﬁﬁwm—ﬁ%mwsﬁm"mgﬁwv@uw
THretd B fae AR e’
(1) (a) ST (B) 2) (o) T () (3) (a) 3T () 4 wfw
Consider the following statements :
(a) Dadabhai Naoroji was the first to estimate the national income.

(b) This estimates of national income was for the year of 1867-68.

(c) Dadabhai Naoroji estimated the national income in his book titled “Poverty and
Un-British Rule in India”.

Which of the statements given above are correct ?
(1) (a) and (b) (2) (b) and (¢) (3) (a) and {0 (4)  All of the above

91. el g faum sl ¢
(a) AR 2070 WA YU THRp BT IS T HRoA wied feiRe et
(b) TG A AT ST Gl BHiG .
() WRaTe U0 Aifds e 25% &EY 9 .
T S
(1) RN (2) T () WK, () TH
@ R @7 () W, )T
(@) REM (b) T () TR, (2) T3
(4) =& Rum I
Identify incorrect statements from the following :
(a) India has set a target of achieving 0% carbon emissions by 2070.

(b) India ranks 10t in the world in forest cover land.

(c) Forests cover about 25% of the total geographical area of India.
Answer options :

(1) Statements (a) and (b) is correct, (¢) incorrect

(2) Statements (a) and (c) is correct, (b) incorrect

(3) Statements (b) and (c) is correct, (a) incorrect

(4) All statements are incorrect

FAT FEEI S0 / SPACE FOR ROUGH WORK PT.O.
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92. RUS I FRME €k SR $Aw d& ammr oiitie SR mEad Yemen
RacuER fFRiam 399,
(1) s d9ro (2) A9 anfdfe o
(3) #Rw dro (4) Sieifie g

refers to a regulatory policy whereby the central bank maintains its control over the
supply of money for the realisation of general economic goals.

(1)  Fiscal policy (2) New economic policy

(8) Monetary policy (4) Industrial policy

93. YaroNe ForA g I e afEeh R ame?
(a) Vasaia nfde Iopy @Ol
(b) wETE Arg wrRED FEfoy am‘r
(c) TIFES &5 d1% BT
(d) Tashl wrawerar R wo).
I BIORY /g aRaw oM/ ek ?
(1) (@7 2 ®I@ 3 ©d9(@d) @ @3@
Which of the following is related to National Horticulture Mission ?
(a) Economic upliftment of farmers.
(b) Creating the right chain of goods.
(c) To increase the area under cultivation.
(d) To develop sales system.

Which of the statement/statements given above is/are correct ?

(1) (a)and (b) (2) (b) and (c) (3) (o) and (d) (4) (a) and (d)

Fo1 FTHIAI G0N / SPACE FOR ROUGH WORK
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94, WETH AR G RS G @t BT e/ AR o/

(a) mamﬁmmmmmﬁwummﬁwﬁﬁ
A1 - 2018-19 IR afed . |

(b) W SIS T ATHE PEA T TE B, 6000/ I et 5 WA Se 5

HROIE U
T ST _
(1) fum (a) =/ER (2) fram (b) s_REw
() R @) s (b) T @ Rew @) o (b) 0@

Which of the following statement/statements regarding Pradhan Mantri Kisan Sanman Nidhi
Yojana is/are correct ?

(a) TheCentral Golvemmen_t has been implementing Pradhan Mantri Kisan Sanman Nidhi Yojana .

from the year 2018-19 to supplement the income of small and marginal farmers.

(b) A total of Rs. 6000/- per annum is credited directly to the beneficiary’s bank account from
the eligible farmer families under this scheme.

Answer options :
(1) Statement (a) correct (2) Statement (b) correct

(3) - Statements (a) and (b) correct (4) Statements (a) and (b) incoﬁect

95,

sheitfire ST fiRRr gerT Temrem (BIFR) 9 wora 1987 48 el wromn Sem ek g
(1) R & @oe JaauE e

(2) SMOINY SENTR o™

(3) WP ToNEIE FEATR Sl

@) Tt PoRd TE

Board for Industrial & Financial Reconstruction (BIFR) was established in 1987 with which of the
following objectives ? '

(1)  Encouragement to private sector investment in financial sector
(2}  Revival of sick industries

(3) Strategy for foreign exchange regulation
(4)  None of the above '

FoAT TS AT / SPACE FOR ROUGH WORK ‘ "PT.O.
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ﬂﬁwmﬂﬁma%wmmw!ﬁw(e@) 1 It g Hel.
(1) 2014 (2) 2015 (3 2016 (4) 2017

Central Government started Ujwal Discom Assurance Yojana (UDAY) in the year
(1) 2014 (2) 2015 (3) 2016 4y 2017

97.

QNS PR/ RaE/A A sm?

() YT fis omi IR i @ wfvs omnT veO g URRE SR
(b) o1 ST SERE I, S TE SYvad R Sel A,
T W :

(1) W (1) TR () W (b) TR M

@) (@) I (o) A W A (&) () S () AW P T
Which of the following statement/s is/are correct ?

(a) Ranganath Misra Commission is also known as National Commssmn for Religious and
Linguistic Minorities (NCRLM).

() This commission recommended delinking scheduled castes from religion.
Answer options : - 7 ‘

(1) Only (a) is correct (2) Only (b) is correct

(3) (a) and (b) both are correct ~ (4) (a) and (b) both are incorrect

98.

W@Tmﬁmﬂaﬁﬁgﬁaﬁaﬁﬁwv&?@mmmﬁwmaﬁ?

(a) TRTFR R

(k) <Rew farm

() TETREE I8

(d) fawmar F& RO

(1) w9 (a) (@ @I @ ¥ - @) OFQ
Which of the following objectives was given priority in the Eleventh Five Year Plan? ~
(@) Employment creation

(b) Poverty alleviation

(<) All inclusive growth

(d) Reducing inequality

- Answer options @

(1) (ayonly @ @and®) () ©@only @) () and (@)
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99,  f Urdy 9= oW SAEddl BRU .
1) PEEE TwE (2) FTAED GROT &
(3) g Riw gl @) =tawd

these are the causes of low productivity of Indian agriculture.
(1) Population pressure (2) Uneconomic holdings

(3) Inadequate irrigation facilities  (4) All of the above

100. Grefiel fae femmE i
(a) FEMI-fEf Waerar watq @ RO P &mmaY e,
(b) 2021-22 Hed P & 6.9% TS BUATA AN 3.
et SR Rum R e ?
(1) > () 2) @ (b) (3) T (a) WMPM (b) (4) RS AR
Consider the following statements :

(a) The least impact of the pandemic related crisis was on the agricultural sector.
(b) Agriculture sector is estimated to grow 6.9 percent in 2021-22,

Which of the statements given above are correct ?

(1) Only (a) (2) Only (b) (3) Both (a) and (b) (4) None of the above

-000-
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T M - (T= 1 &R

8) weTgfmaned faRta s fufire wrie #=8 & (V6 a%) &0, weyRadafaiEaa SaTubkat a1 g
FIETAT Hed FH HRTE o B HLATAT I3 HS IR, JH AFS WES 9 ANE SHIIET JRA w1
o ‘aligaed ST Ay wiady wvaEEay Afufm-82” IS aIgErER BIaR G{EE 950
g il S HAE TF auTeAT HIOEHTEAT v/ fhean $U8 U sl W@He dsten ey I 959,

(9) | TTURGES AR fafed wY 9% HURTHAY SHSANIRN @ Yy TRast @ adat TiasaEet i
SVAR QLE . A TUARRETEIet ATl SHeEarA SIedl Sl i—1 THIEeRss 7 T 3 &0 STEeds

e,
T 09T

q. F. 201, G AR AL FIOAEIE BN A TG el ?
(1) el T ' (2 Svards femarR
@) e T W @) e e
&1 WA A T “(3) T THAE T O SR, RS 1 9T Sat (3)7 BEe. ATKT WIeHHI
U5 . 201 TS Sal-w () ¥ TS T B HE IREf S .

w520 ) @ @ @

19T TEAR TG FoYRehais Welds 99ITal AT SaT-3hH1% Bl JRETeN s JUaendl Stk e
W AT NS Yeft ade quivsl SRt FET TEET. ST FE Fodl e S TR,
IS T SR U A T
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